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Ul = 30050 +singp. u|,_y = 4sin29 cos¢.
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Uy, =2sin® 9 sing. ul,_, = 2cosd + cos2p.
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—s = (1 +5in20) cosp. * | %), =sin® 9 +sin2p.

- Au 0, <3, 0<I<T, 0<p<2m; r<1, 0<9<, 0<p<om;
$in20 sin + sin 2. 4sin20 cos p.

o0 A'u 0, r<1, 0<9<m, 0<p<2m; Au=0, r<1, 0<I<, 0<p<2m
o8t + cos 2, sin 9 cos .

0, r<4, 0<I<m 0<p<2m;
ul,_, =2cos’ 0 +sin 2.

Bu=0, r<2, 0<P<m, 0<p<2m
|, = 3cos®d +sinp.

Au=0, r<2, 09K, 0<p<2m;
ul,_, = 280’ sing.

-
0, r<2, 0KV, 0<p<2m;
o= 2c0s9 +sin2p.

5

S

Au=0, r<4, 0<I<T, 0<p<2m;

%‘-dnwmnw

<4, 0SI<T, 0<p<2m
= sint 0 + con2p.
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],y = (1+sin20) sinp.

Aut9u=0, 0<r<2 0<p<2m
u],_, = 2cos 9 +sin2p.
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Autdu=0, 0€r<l, 0Syp<in;

i
£ {./,[' 5 = i’ 0 4 sin 2p.
{

Butdu=0, 0<r<1, 0Ky <2

i T

sin20 conyp.
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o =480 com i,

10.

ButPu=0, 0€r <4, 0<p<2n

12.
U, = 2008 0+ sin 2p,

., = Beo 0 4 sinp.
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